
 

njhFg;G : jpU.M.gpughfud; Mrpupau; - nghUspay; (ah/Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.fpuprhe;jd; Mrpupau; - jfty; njhlu;ghly; njhopDl;gk; (ah/Ntyiz ru];tjp tpj;jpahyak;) 

juk; 12> 13 
 nghUspay; 

vspa nghUshjhuj;jpd; Ngupdg; 
nghUshjhur; rkepiy 



 

njhFg;G : jpU.M.gpughfud; Mrpupau; - nghUspay; (ah/Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.fpuprhe;jd; Mrpupau; - jfty; njhlu;ghly; njhopDl;gk; (ah/Ntyiz ru];tjp tpj;jpahyak;) 

juk; 12> 13 

Nju;r;rp 6.0 

Nju;r;rp kl;lk; 6.3> 6.4 

vspa nghUshjhuj;jpd; Ngupdg; nghUshjhur; rkepiy 
 vspa nghUshjhuj;jpy; ,uz;L Jiwfs; fhzg;gLk;. 

1. tPl;Lj;Jiw 

2. epWtdj;Jiw 

 vspa nghUshjhuj;jpd; Ngupdg; nghUshjhur; rkepiyia gpd;tUk; ,uz;L mZFKiwapd; 
fPo; Nehf;fyhk;. 

 tUkhdr; nryT mZFKiw (Y=E) 

vspa nghUshjhuj;jpd; nkhj;jr; nryTf;Fs; gpd;tUk; ,uz;L tplq;fs; 
cs;slf;fg;gl;Ls;sJ. 

 Efu;T (C) 

 KjyPL (I) 

E = C+I 

 

 

 

 ,jid gpd;tUk; ml;ltiz tiuglj;jpd; %yk; tpsq;fpf;nfhs;syhk;. 

 a) ml;ltiz   C = 300 + 0.8Y 

     I = 300 kp.&gh 

 

 

 

 

 

 

 

 

NkYs;s ml;ltizapd;gb 3000 kpy;ypad; &gh tUkhdj;jpy; Efu;Tk; KjyPl;Lr; 

nrytpdJk; $l;Lj;njhif (2700+300)  rkdhff; fhzg;gLk;. mjdhy; 3000 kpy;ypad; 
&gh rkepiyj; Njrpa tUkhdkhff; fhzg;gLk;. 

 

  

Y=E 

Y=C+I 

Y (kp.&) C (kp.&) I (kp.&) C+I 

1000 1100 300 1400 

2000 1900 300 2200 

3000 2700 300 3000 

4000 3500 300 3800 



 

njhFg;G : jpU.M.gpughfud; Mrpupau; - nghUspay; (ah/Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.fpuprhe;jd; Mrpupau; - jfty; njhlu;ghly; njhopDl;gk; (ah/Ntyiz ru];tjp tpj;jpahyak;) 

juk; 12> 13 
 

 

 

 

 

 

 

 

 

NkYs;s tiuglj;jpd;gb rkepiyj;Njrpa tUkhdf; Nfhl;bid (Y=E) nryTf;NfhL (C+I) 

A Gs;spapy; ntl;LfpwJ. mg;Gs;spapy; fhzg;gLfpd;w 3000 kpy;ypad; &gh rkepiyj; Njrpa 
tUkhdj;jpidf; fhl;LfpwJ.  

II. cl;gha;r;ry; ntspg;gha;r;ry; mZFKiw 

cl;gha;r;ry; = KjyPL (I)   I=W 

ntspg;gha;r;ry; = Nrkpg;G (S) I=S 

rkepiyapy; I=S Mff; fhzg;gLk;. ,jid gpd;tUk; rkd;ghL> tiuglj;jpd; %yk; tpsq;fpf; 
nfhs;syhk;. 

a) ml;ltiz 

 

 

 

 

 

 

 

NkYs;s ml;ltizapd;gb 3000 kpy;ypad; &gh tUkhdj;jpy; jpl;lkpl;l Nrkpg;Gk; (300) 
jpl;lkpl;l KjyPLk; (300) rkdhff; fhzg;gLfpwJ. 

b) tiuglk; 

 

Y (kp.&) C (kp.&) S (kp.&) I (kp.&) 

1000 1100 -100 300 

2000 1900 +100 300 

3000 2700 +300 300 

4000 3500 +500 300 

S=-300 + 0.2Y 

I = 300 kpy;ypad; &gh 

Y=E C+I 

C 
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b) tiuglk; 



 

njhFg;G : jpU.M.gpughfud; Mrpupau; - nghUspay; (ah/Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.fpuprhe;jd; Mrpupau; - jfty; njhlu;ghly; njhopDl;gk; (ah/Ntyiz ru];tjp tpj;jpahyak;) 

juk; 12> 13 

NkYs;s tiuglj;jpd;gb Nrkpg;Gf; NfhLk; (S) KjyPl;Lf; NfhLk; (I) A Gs;spapy; xd;iw 
xd;W ntl;br; nry;fpd;wJ. mjpYs;s 3000 kpy;ypad; &gh rkepiyj; Njrpa tUkhdkhff; 
fhzg;gLk;. 

vspa nghUshjhuj;jpy; tUkhdg; ngUf;fp / KjyPl;Lg; ngUf;fp (KI) 

  

 

Eg: MPS = 0.2 vdpd;  

 

 K = 5 MFk;.   K = 5 

MPCMPSI

Y
KI


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


1

11

2.0

1
K

vspa nghUshjhuj;jpd; nkhj;jf; Nfs;tpapy; khw;wj;ij Vw;gLj;Jk; fhuzpfs;. 

1. jd;dpr;irahd Efu;T (a) 

2. vy;iy Efu;T ehl;lk; (MPC) 

3. jd;dpr;irahd KjyPL (I) 

 Vidait khwhj epiyapy; (MPC , I)  jd;dpr;irahd Efu;T mjpfupf;Fk; NghJ rkepiyj; 
Njrpa tukhdk; mjpfupf;Fk;. ,jdhy; mit ,uz;lbw;Fkpilapy; Neuhd njhlu;G 
fhzg;gLk;. 

 Eg:  C = 200+0.8Y 

 I = 300 kpy;ypad; &gh 

 Y = C + I 

 Y = 200+0.8Y+300 

 Y - 0.8Y = 500 

 0.2Y = 500 

 Y = 500/0.2 

 Y = 2500 kpy;ypad; &gh 

,q;F jd;dpr;irahd Efu;T 200 ,ypUe;J 300 Mf mjpfupg;gjhff; nfhs;Nthk;. 

 C = 300+0.8Y 

I = 300 

Y = C + I 

Y = 300+0.8Y+300 

0.2Y = 600 

 

 Y = 3000 kpy;ypad; &gh 

 

0.2

600
Y 



 

njhFg;G : jpU.M.gpughfud; Mrpupau; - nghUspay; (ah/Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.fpuprhe;jd; Mrpupau; - jfty; njhlu;ghly; njhopDl;gk; (ah/Ntyiz ru];tjp tpj;jpahyak;) 

juk; 12> 13 

 Vidait khwhj epiyapy; (a , I) vy;iy Efu;T ehl;lk; mjpfupf;Fk; NghJ ngUf;fpAk; mjp-
fupg;gjdhy; rkepiyj; Njrpa tUkhdKk; mjpfupf;Fk;. ,jdhy; vy;iy Efu;T ehl;lj;jpw;Fk; 
rkepiyj; Njrpa tukhdj;jpw;Fkpilapy; Neuhd njhlu;G fhzg;gLk;. 

Eg:  C = 100+0.75Y 

 I = 50 kpy;ypad; &gh 

 Y = C+I 

 Y = 100+0.75Y+50 

 0.25Y = 150 

 

 

 Y = 600 kpy;ypad; &gh 

,q;F vy;iy Efu;T ehl;lk; 0.75 ,ypUe;J 0.8 Mf mjpfupg;gjhff; nfhs;Nthk;. 

 C =  100+0.8Y 

 Y = 50 

 Y = C+I 

 Y = 100+0.8Y+50 

 0.2Y = 150 

 Y = 150/0.2 

 y = 750 kpy;ypad; &gh 

 Vidait khwhj NghJ (a , MPC) KjyPL mjpfupf;Fk; NghJ rkepiyj; Njrpa tUkhdKk; 
mjpfupf;Fk;. mjdhy; mitapuz;bw;Fk; ,ilapy; Neuhd njhlu;G fhzg;gLk;.  

Eg:  C  = 400+0.9Y 

 I = 200 kpy;ypad; &gh 

 Y = C+I 

 Y = 400+0.9Y+200 

 0.1Y = 600 

 Y = 600/0.1 

 Y = 6000 kpy;ypad; &gh 

 

0.25

150
Y 

 

 

 K = 4 klq;F 

25.0

1
K

 

 

 K = 5 klq;F 

2.0

1
K



 

njhFg;G : jpU.M.gpughfud; Mrpupau; - nghUspay; (ah/Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.fpuprhe;jd; Mrpupau; - jfty; njhlu;ghly; njhopDl;gk; (ah/Ntyiz ru];tjp tpj;jpahyak;) 

juk; 12> 13 

,q;F KjyPL 200 kpy;ypad; &ghtpypUe;J 300 kpy;ypad; mjpfupg;gjhff; fUJNthk;. 

C = 400+0.9Y 

I = 300 kpy;ypad; &gh 

Y = C+I 

Y = 400+0.9Y+300 

0.1Y = 700 

Y = 700/0.1 

Y = 7000 kpy;ypad; &gh 

 

Note : jd;dpr;irahd nryT khwpia ngUf;fpapdhy; ngUf;Fk; NghJ rkepiyj; Njrpa tUkhdk; 
fpilf;Fk;  

 

 

 

 

 

 

 

 

 

,q;F K ngUf;fpahFk;. a+I jd;dpr;irahd nryT khwpahFk;. 
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&kp. 

 ,q;F K=5 MFk;. 

 jd;dpr;irahd nryT khwp (a+I) = 300 kpy;ypad; 
&gh 



 

njhFg;G : jpU.M.gpughfud; Mrpupau; - nghUspay; (ah/Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.fpuprhe;jd; Mrpupau; - jfty; njhlu;ghly; njhopDl;gk; (ah/Ntyiz ru];tjp tpj;jpahyak;) 

juk; 12> 13 

  

%ba nghUshjhuj;jpd; Ngupdg; nghUshjhur; rkepiy 

 %ba nghUshjhuj;jpy; gpd;tUk; 03 Jiwfs; fhzg;gLk;. 

2 

1 

3 

tPl;Lj;Jiw 

epWtdj;Jiw 

murhq;fj;Jiw 

 ,q;F murhq;fk;  

1. Neu;tupfis tpjpf;Fk; (T) 

2. nghUl;fs; gzpfs; kPjhd nryit Nkw;nfhs;Sk; (G) 

3. khw;wy; nfhLg;gdTfis toq;Fk; (Tr) 

 murhq;fj;jpd; jiyaPl;ilf; nfhz;l nghUshjhuj;jpy; Efu;Tk;> Nrkpg;Gk; nrytplj;jf;f tU-

khdj;jpy; (yd) jq;fpapUf;Fk;. 

 nrytplj;jf;f tUkhdk; = tUkhdk; - Neu;tup + murkhw;wy; nfhLg;gdTfs; 

   (yd) = y - T + Tr 

C = F(yd) 

C = a+byd 

C = a+b(y-T+Tr) 

S = F(yd) 

S = -a+byd 

S = -a+b(y-T+Tr) 

 

yd

C
Apc 

yd

S
Aps 

yd

C
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
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



 

njhFg;G : jpU.M.gpughfud; Mrpupau; - nghUspay; (ah/Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.fpuprhe;jd; Mrpupau; - jfty; njhlu;ghly; njhopDl;gk; (ah/Ntyiz ru];tjp tpj;jpahyak;) 

juk; 12> 13 

%ba nghUshjhuj;jpd; Ngupdg; nghUshjhur; rkepiyia gpd;tUk; ,uz;L mZFKiwfspy; 
Nehf;fyhk;. 

1. tUkhdr; nryT mZFKiw (y=E) 

,q;F nkhj;jr; nryTf;Fs; cs;slf;Fk; tplaq;fs; tUkhW  

1. Efu;T (C) 

2. murhq;ff; nfhs;tdTfs; (G) 

3. KjyPL (I) 

E = C + I + G 

Y = E 

 

,jid gpd;tUk; ml;ltiz> tiuglj;jpd; %yk; tpsq;fpf;nfhs;syhk;.  

a) ml;ltiz 

C = 200 + 0.8yd 

I = 100  kpy;ypad; &gh 

G = 150 kpy;ypad; &gh 

T = 50 kpy;ypad; &gh 

Tr = 20 kpy;ypad; &gh 

Y = C + I + G 

C = 200 + 0.8(y-T+Tr) 

C = 200 + 0.8(y-50+20) 

C = 200 + 0.8y - 40+16 

C = 176 + 0.8y 

 
Y C I G E = C+ I + G 

2000 1776 100 150 2026 

2100 1856 100 150 2106 

2130 1880 100 150 2130 

2200 1936 100 150 2186 

NkYs;s ml;ltizapd;gb 2130 kpy;ypad; &gh tUkhdj;jpy; nkhj;jr; nryT rkdhff; 
fhzg;gLfpwJ.  

 



 

njhFg;G : jpU.M.gpughfud; Mrpupau; - nghUspay; (ah/Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.fpuprhe;jd; Mrpupau; - jfty; njhlu;ghly; njhopDl;gk; (ah/Ntyiz ru];tjp tpj;jpahyak;) 

juk; 12> 13 

&kp.2130y
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4260.2y

4260.8yy

25016400.8y200y

15010020)500.8(y200Y

GIcY
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







b) tiuglKiw 

45o 

0 

426 

213

y=E 

C+I+G 

Y 

NkYs;s tiuglj;jpd;gb rkepiyj; Njrpa tUkhdf; Nfhl;bid nryTf;NfhL A vd;w 
Gs;spapy; ntl;br;nry;Yfpd;wJ. mjpYs;s 2130 kpy;ypad; &gh rkepiyj; Njrpa tU-
khdj;jpid Gyg;gLj;Jk;. 

 

2. cl;gha;r;ry; ntspg;gha;r;ry; mZFKiw 

%ba nghUshjhuj;jpd;  

 cl;gha;r;ry; 

  1. KjyPL (I) 

  2. murhq;ff; nfhs;tdTfs; (G) 

 ntspg;gha;r;ry;fs; 

  1. Nrkpg;G (S) 

  2. Njwpa tupfs; (T-Tr)/NT 

 

 



 

njhFg;G : jpU.M.gpughfud; Mrpupau; - nghUspay; (ah/Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.fpuprhe;jd; Mrpupau; - jfty; njhlu;ghly; njhopDl;gk; (ah/Ntyiz ru];tjp tpj;jpahyak;) 

juk; 12> 13 

 W = S+(T-Tr) 

   OR 

  W = S+NT 

 rkepiyapy; cl;gha;r;ry; ntspg;gha;r;rYf;Fr; rkdhff; fhzg;gLk;.  

  I = W 

 

 

 ,jid gpd;tUkhW ml;ltiz> tiuG %yk; tpsq;fpf;nfhs;syhk;. 

 a) ml;ltiz 

  S = -200+0.2yd 

S = -200+0.2(y-50+20) 

S = -200+0.2y-10+4 

 

 

 

 

 

 

 

 

 

 NkYs;s ml;ltizapy; 2130 kpy;ypad; &gh tUkhdj;jpy; cl;gha;r;ry; ngWkjpAk; 
 ntspg;gha;r;ry; ngWkjpAk; rkdhff; fhzg;gLfpwJ. 

 b) tiuglk; 

 

 

I+G = S+NT 

S = -206+0.2y 

Y T Tr NT yd C I S G J W 

2000 50 20 30 1970 1776 100 194 150 250 224 

2100 50 20 30 2070 1856 100 214 150 250 244 

2130 50 20 30 2100 1880 100 220 150 250 250 

2200 50 20 30 2170 1936 100 234 150 250 264 

I,w 

0 

250 

-176 
2130 

Y 

w=S+NT 

I=I+G 



 

njhFg;G : jpU.M.gpughfud; Mrpupau; - nghUspay; (ah/Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.fpuprhe;jd; Mrpupau; - jfty; njhlu;ghly; njhopDl;gk; (ah/Ntyiz ru];tjp tpj;jpahyak;) 

juk; 12> 13 

NkYs;s tiuglj;jpd;gb cl;gha;r;ry; NfhLk; ntspg;gha;r;ry; NfhLk; A Gs;spapy; 
xd;iwnahd;W ntl;br; nry;fpd;wJ. mjpYs;s 2130 kpy;ypad; &gh rkepiyj; Njrpa tU-
khdkhFk;. 

 

%ba nghUshjhuj;jpy; tUkhdg;ngUf;fp / KjyPl;Lg;ngUf;fp (KI) / murnryTg; ngUf;fp (KG) 
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
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KB

MPC

MPC

MPC

MPC

MPC

KTKGrkepiyj; Njrpa tUkhdk; 

(KB) 

ngUf;fp njhlu;ghd tpsf;fk; 6.2 ,y; cs;sJ 

 

 

C = 200+0.8yd 

T = 50MR 

y = C+I +G 

y = 200+0.8(y-50+20)+100+150 

y = 200+0.8y-40+16+250 

0.2y = 426 

 

Note: rkepiyj; Njrpa tUkhdk; = ngUf;fp X jd;dpr;irahd nryTkhwp 

G = 150MR 

Tr = 20MR 

I = 100MR 

y = 5 X 426 

ngUf;fp 

jd;dpr;irahd nryT khwp 

X426
0.2

1
y 



 

njhFg;G : jpU.M.gpughfud; Mrpupau; - nghUspay; (ah/Gdpj n`d;wpauru; fy;Y}up) 

fzpdp tbtikg;G : jpU.rp.fpuprhe;jd; Mrpupau; - jfty; njhlu;ghly; njhopDl;gk; (ah/Ntyiz ru];tjp tpj;jpahyak;) 

juk; 12> 13 

%ba nghUshjhuj;jpd; nkhj;jf; Nfs;tpapy; khw;wj;ij Vw;gLj;Jk; fhuzpfs; 

1. jd;dpr;irahd Efu;T (njhlu;G +) 

2. vy;iy Efu;T ehl;lk; (njhlu;G +) 

3. jd;dpr;irahd KjyPL (njhlu;G +) 

4. jd;dpr;irahd tup (njhlu;G -) 

5. jd;dpr;irahd khw;wy;fs; (njhlu;G +) 

6. murhq;ff; nfhs;tdTfs; (njhlu;G +) 

 

gapw;rp  

%ba nghUshjhuk; njhlu;ghd jfty;fs; tUkhW. ngWkjpfs; kpy;ypad; &gha;fspYs;sJ. 

C = 300+0.75yd 

I = 200 kpy;ypad; &gh 

G = 100 kpy;ypad; &gh 

T = 40 kpy;ypad; &gh 

Tr = 20 kpy;ypad; &gh 

gpd;tUtdtw;iwf; fzpg;gpLf. 

1. rkepiyj; Njrpa tUkhdk; vt;tsT? 

2. nrytplj;jf;f tUkhdk; vt;tsT? 

3. rkepiyj; Njrpa tUkhdj;jpy;  

 m) Efu;T vt;tsT? 

 M) Nrkpg;G vt;tsT? 

4. KjyPl;Lg; ngUf;fp> tupg;ngUf;fp vd;gtw;iwf; fzpg;gpLf. 

5. rkepiyapy; cl;gha;r;rYk; ntspg;gha;r;rYk; rkg;gLk; vd;gjid epWTf. 

6. ,g;nghUshjhuj;jpd; murhq;ff; nfhs;tdT 50 kpy;ypad; &ghthy; mjpfupf;Fk; NghJ 
rkepiyj; Njrpa tUkhdj;jpw;F vd;d epfOk;? 

 


